Chapter 7 Pricing Policies and Profitability Analysis

Answer – Exercise 1
	Units
	Price
	Total revenue
	Marginal revenue
	Total cost
	Marginal cost
	Profit

	
	$
	$
	$
	$
	$
	$

	0
	0
	0
	0
	600
	-
	(600)

	1
	504
	504
	504
	720
	120
	(216)

	2
	471
	942
	438
	807
	84
	138

	3
	439
	1,317
	375
	864
	60
	453

	4
	407
	1,628
	311
	924
	60
	704

	5
	377
	1,885
	257
	1,005
	81
	880

	6
	346
	2,076
	191
	1,134
	129
	942

	7
	317
	2,219
	143
	1,274
	140
	945

	8
	288
	2,304
	85
	1,440
	166
	864

	9
	259
	2,331
	27
	1,674
	234
	657

	10
	232
	2,320
	(11)
	1,980
	306
	340


Examination Style Questions
Answer 1

(a)

Costs and quoted prices for the GC and EX using labour hours to absorb overheads:

	
	
	
	GC ($)
	EX ($)

	Materials
	
	
	3,500
	8,000

	Labour
	300 hrs x $15/hr
	
	4,500
	

	
	
	500 hrs x $15/hr
	
	7,500

	Overheads
	300 hrs x $10/hr (W1)
	
	3,000
	

	
	
	500 hrs x $10/hr
	
	5,000

	Total cost
	
	
	11,000
	20,500

	
	
	
	
	

	Quoted price
	
	
	16,500
	30,750


(W1) Overhead absorption rate is calculated as $400,000/40,000 hrs = $10/hr

(b)
Costs and quoted prices for the GC and the EX using ABC to absorb overheads:
	
	
	
	GC ($)
	EX ($)

	Materials
	
	
	3,500
	8,000

	Labour
	300 hrs x $15/hr
	
	4,500
	

	
	
	500 hrs x $15/hr
	
	7,500

	Overhead
	
	
	
	

	- Supervisor
	(W2)/(W3)
	
	180
	1,080

	- Planners
	(W2)/(W3)
	
	280
	1,400

	- Property
	(W2)/(W3)
	
	1,800
	3,000

	Total cost
	
	
	10,260
	20,980

	
	
	
	
	

	Quoted price
	
	
	15,390
	31,470


(W2)

	
	Costs
	No. of drivers
	Cost per driver

	Supervisor
	90,000
	500
	180

	Planners
	70,000
	250
	280

	Property
	240,000
	40,000
	6


(W3)

	
	Supervisor
	Planner
	Property

	Cost per driver (W2)
	$180
	$280
	$6

	GC
	180 x 1 = 180
	280 x 1 = 280
	6 x 300 = 1,800

	EX
	180 x 6 = 1,080
	280 x 5 = 1,400
	6 x 500 = 3,000


(c)

The pricing policy is a matter for BBB to decide. They could elect to maintain the current 50% mark-up on cost and if they did the price of the GC would fall by around 7% in line with the costs. This should make them more competitive in the market.
They could also reduce the prices by a little less than 7% (say 5%) in order to increase internal margins a little.
It is possible that the issue lies elsewhere. If the quality of the work or the reputation and reliability of the builder is questionable then reducing prices is unlikely to improve sales. It is conceivable that BBB has a good reputation for EX but not for GC, but more likely that a poor reputation would affect all products. Equally poor service levels or lack of flexibility in meeting customer needs may be causing the poor sales performance. These too will not be ‘corrected’ by merely reducing prices.
It is also possible that the way salesmen discuss or sell their products for the GC is not adequate so that in some way customers are being put off placing the work with BBB.
BBB is in competition and it perhaps needs to reflect this in its pricing more (by ‘going rate pricing’) and not seek to merely add a mark-up to its costs.
BBB could try to penetrate the market by pricing some jobs cheaply to gain a foothold. Once this has been done the completed EX or GC could be used to market the business to new customers.
The price of the EX would also need consideration. There is no indication of problems in the selling of the EX and so BBB could consider pushing up their prices by around 2% in line with the cost increase. On the figures in my answer the price goes up for a typical extension to $31,470 from $30,750 a rise of $720. This does not seem that significant and so might not lose a significant number of sales.
The reliability and reputation of a builder is probably more important than the price that they charge for a job and so it is possible that the success rate on job quotes may not be that price sensitive.
(d)
Marginal costs are those costs that are incurred as a consequence of the job being undertaken. In this case they would include only the materials and the labour. If overheads are included then this is known as total absorption costing.
Overheads are for many businesses fixed by nature and hence do not vary as the number of jobs changes. In a traditional sense any attempt to allocate costs to products (by way of labour hours for example) would be arbitrary with little true meaning being added to the end result. The overhead absorption rate (OAR) is merely an average of these costs (over labour hours) and is essentially meaningless. This switch (to marginal costing) would also avoid the problem of the uncertainty of budget volume. Budget volume is needed in order to calculate the fixed cost absorption rate.
The marginal cost (MC) is more understandable by managers and indeed customers and a switch away from total absorption cost (TAC) could have benefits in this way. Clearly if overheads are going to be excluded for the cost allocations then they would

still have to be covered by way of a bigger margin added to the costs. In the end all costs have to be paid for and covered by the sales in order to show a profit.
A more modern viewpoint is that activity causes costs to exist. For example, it is the existence of the need for site visits that gives rise to the need for a supervisor and therefore, for his costs. If the activities that drive costs are identified, more costs can then be directly traced to products, hence eradicating the need for arbitrary apportionment of many overhead costs. This has the benefit of all costs being covered, rather than the potential shortfall that can arise if marginal cost plus pricing is used.
In the long run businesses have to cover all costs including fixed overheads in order to make a profit, whichever pricing strategy is adopted.
ACCA Marking Scheme
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Answer 2
(a)
The three major factors affecting pricing decisions are:

1.
Customers – they influence price through their effect on demand for a product or service.

2.
Competitors – they offer alternative or substitute products or services that a customer could choose.

3.
Costs – they affect the supply of a product or service.


(6 marks)
(b)

Marginal costing income statement:
	
	
	$
	$

	Revenues
	
	
	1,000,000

	Variable costs:
	
	
	

	Manufacturing
	
	400,000
	

	Marketing
	
	140,000
	

	Total variable costs
	
	
	540,000

	Contribution
	
	
	460,000

	Fixed costs:
	
	
	

	Manufacturing
	
	200,000
	

	Marketing
	
	160,000
	

	Total fixed costs
	
	
	360,000

	Operating profit
	
	
	100,000


Mark-up percentage: $460,000 ÷ $540,000 = 85.19% of total variable costs.


(5 marks)
(c)

Only the manufacturing cost category is relevant to considering this special order, no additional marketing costs will be incurred. The relevant manufacturing costs for the 200-crate special order are:

	
	
	$

	Variable manufacturing cost per unit

($400 x 200 crates)
	
	80,000

	Special packaging
	
	20,000

	
	
	100,000


Any price above $500 per crate ($100,000 ÷ 200) will make a positive contribution to operating profit. Hence, based on financial considerations, RSG should accept the 200-crate special order. The reasoning based on a comparison of $550 per crate price with the $600 per crate absorption cost ignores monthly cost-volume-profit relationships. The $600 per crate absorption cost includes a $200 per crate cost component that is irrelevant to the special order. The relevant range for the fixed manufacturing costs is from 500 to 1,500 crates per month; the special order will increase production from 1,000 to 1,200 crates per month. Furthermore, the special order requires no incremental marketing cost.


(5 marks)

(d)

If the new customer is likely to remain in business, RSG should consider whether a strictly short-run focus is appropriate. For example, what is the likelihood of demand from other customers increasing over time? If RSG accepts the 200-crate special offer for more than one month, it may preclude accepting other customers at prices exceeding $550 per crate. Moreover, existing customers may learn about RSG’s willingness to set a price based on variable cost plus a small contribution margin. The longer the time frame over which RSG keeps selling 200 crates of canned peaches at $550 a crate, the more likely that the existing customers will approach RSG for their own special price reduction. If the new customer wants the contract to extend over a longer time period, RSG should negotiate a higher price.

(4 marks)

Answer 3
(a)

	
	(RMB)
	Area
	Total (RMB)

	Land cost
	80
	800
	64,000

	Building cost
	150
	800
	120,000

	Interest, tax
	
	
	64,400

	Initial per-room expenditure
	
	
	15,000

	Room supplies
	
	
	2,000

	Marketing
	
	
	5,000

	Total
	
	
	270,400

	Error
	
	
	27,040

	Total with error
	
	
	297,440


(b)

According to 1 of 1,000 rule, the room rate is 1/1,000 of the total construction.

Room rate = 297,440 ÷ 1,000 × 1 = RMB 297.44. The market rate for comparable rooms is RMB 240, and this is still competitive as this is a new hotel and customers are expected to pay a premium.
(c)

In cost plus pricing, the price of a product is determined by the cost plus certain profit margin. Target costing determines the cost of a product or service according to the target price that a customer is willing to pay and it is an estimated long-run cost.
(d)

In addition to financial aspect, it is suggested that management improve on customer services and operational efficiency. Some measures include reducing customers’ queuing time at check-out, reducing waiting time when customers make phone calls, minimizing the number of customer complaints, and increasing the number of customer compliments. Such attitudes form part of the balanced scorecard system and are as essential as financial attributes.
Answer 4
(a)

Sales revenue = $30 × 1,600,000 = $48,000,000 for each customer type.

(Note: The total number of parts is the average order size times the number of sales orders.)

Thus, the total customer-related activity costs are split equally:

The profitability of each category is calculated as follows:

	
	
	$

	Sales revenue
	
	48,000,000

	Less: Non-customer-related cost ($20 × 1,600,000)
	
	(32,000,000)

	Customer-related activity costs
	
	(11,800,000)

	Customer profitability
	
	4,200,000


This profitability measure is inappropriate because the customer-related costs are assigned using revenues, a driver that is not causally related to the customer related activity costs. This approach may actually have one set of customers subsidizing the other.


(5 marks)

(b)

First, calculate the activity rates for assigning costs to customers:
Processing sales orders: $4,400,000 ÷ 8,800 = $500 per order

Scheduling production: $2,400,000 ÷ 8,000 = $300 per scheduling hour

Setting up equipment: $7,200,000 ÷ 6,000 = $1,200 per setup

Inspecting batches: $9,600,000 ÷ 6,000 = $1,600 per inspection

Next, assign the costs to the customers (those who place frequent orders and those who place infrequent orders):

	
	Frequent
	Infrequent

	Processing sales order:
	$
	$

	$500 × 8,000
	4,000,000
	

	$500 × 800
	
	400,000

	Scheduling production:
	
	

	$300 × 7,000
	2,100,000
	

	$300 × 1,000
	
	300,000

	Setting up equipment
	
	

	$1,200 × 5,000
	6,000,000
	

	$1,200 × 1,000
	
	1,200,000

	Inspecting batches:
	
	

	$1,600 × 5,000
	8,000,000
	

	$1,600 × 1,000
	
	1,600,000

	Total customer cost
	20,100,000
	3,500,000


Profitability:
	
	Frequent
	Infrequent

	
	$
	$

	Sales revenue
	48,000,000
	48,000,000

	Less: Other costs
	(32,000,000)
	(32,000,000)

	Less: Customer-related costs
	(20,100,000)
	(3,500,000)

	Customer profit
	(4,100,000)
	12,500,000


This outcome reveals that customers who place smaller, more frequent orders are not profitable. Action must be taken to make this segment profitable, or this category of customers could be dropped. One possibility is to impose a charge for orders below a certain size, thus reducing the demands on the four customer-related activities with a subsequent reduction in cost. Another possibility is to offer quantity discounts to encourage larger orders.

(11 marks)
(c)

Value-added activities increase the worth of a product or service to the consumer. Performing any task required for production (adding materials, blending, moulding, assembling, etc.) is an example of a value-added activity.
Non-value-added activities increase the time or task spent on a product or service but do not increase its worth to the consumer. Moving partially completed units of inventory, storing those parts, quality inspections, and the holding of parts waiting to be worked on are examples of non-value-added activities.

(4 marks)
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